Anatomy I Exam 2

1.  ______________ and _____________ cells form points of attachment between their cell membranes called tight junctions.

2.  The three types of cell junctions are ____________, _____________, and ______________.

3.  Gap junctions form when _______________ line-up and join between cells.

4.  Anchoring junctions form when ____________ pass through the cell membrane and join between cells.

5.  Tight junctions form when ___________ join very tightly.

6.  Tight junctions  are found ____________ and are made of _____________.

7.  Tight junctions  prevent ________________.

8.  Anchoring junctions are found _____________.

9.  Gap junctions are found _______________.

10.  Glandular epithelium are groups of __________ or _________ shaped cells that come together to secrete a specialized substance

11.  The 2 main groups of glands are ______________ and _________________.

12.  Endocrine glands secrete substances into ______________.

13.  The substances secreted by endocrine glands are called ______________.

14.  Exocrine glands secrete substances into _________________.

15.  Lacrimal glands are examples of ________________.

16.  The three functional subtypes of exocrine glands are ______________, _____________, and ______________.

17.  In a __________ gland, whole cells are secreted into the duct.

18.  In a __________ gland, cells remain intact, and the secretions diffuse through the cell membrane into the duct.

19.  In a __________ gland, a piece of the cell is pinched off by exocytosis and secreted into a duct.

20.  _____________ are true membranes composed of two tissues.

21.  The two tissues of an epithelial membrane are _____________ and ______________.

22.  3 subtypes of Epithelial membranes are _____________, _______________ and _______________.

23.  A mucous membrane can have different types of _________________.

24.  A serous membrane always has _______________.

25.  A cutaneous membrane covers ____________.

26.  A cutaneous membrane is made up of _______________ and __________________. 

27.  Epithelial tissue is made up of ______________ cells and ______________ connective tissue.

28.  ______________ membranes line cavities that do not open to the outside.

29.  ______________ membranes line cavities that open to the outside.

30.  Mucus contains the protein __________.

31.  Of a serous membrane, cutaneous mambrane, and mucus membrane, which is almost always dry?

32.  The two layers of skin are ______________ and ____________.

33.  Epidermis is composed of what cells?

34.  Epidermis is subdivided into ____________ sub-layers.

35.  Epidermis contains free-nerve endings, which act as ________________.

36.  The main function of the epidermis is ____________.

37.  Epidermis protects against _____________, ______________, _______________, and _______________.

38.  The 2 main types of cells in the epidermis are _____________ and ______________.

39.  The most common cell found in the epidermis is ________________.

40.  _____________ is the process which causes keratinocytes to die. 

41.  Melanocytes are found ___________________.

42.  Melanocytes produce _______________.

43.  The function of the melenin is _________________.

44.  The sub-layer of epidermis where keratinization begins is the _____________.

45.  The sub-layer of epidermis which is translucent is ______________.

46.  The sub-layer of epidermis which constantly undergoes mitosis is ________________.

47.  The sub-layer of epidermis which is completely keratinized is _______________.

48.  The sub-layer of epidermis which is the thickest sub-layer of spiny cells is _________________.

49.  The dermis is composed of _______________.

50.  The two regions of the dermis are _______________ and _________________.

51.  The papillary region represents what percentage of the dermis?

52.  The papillary region is composed of what tissue?

53.  The papillary region contains what type of special cells?

54.  The mast cells are located where?

55.  The purpose of the mast cells is ___________________.

56.  Papillary ridges are caused by the extensive pull of ____________in the papillary region

57.  Papillary ridges are found only on ________________, _______________, ________________, and _______________.

58.  The function of papillary ridges is ______________.

59.  The papillary region contains _____________ corpuscles.

60.  The function of Meissner’s corpuscles is _____________.

61.  The papillary region contains _____________  discs.

62.  The function of Merkel’s discs is _____________.

63.  The deep region of the dermis is _____________.

64.  The reticular region is composed of ________________ and _______________.

65.  The reticular region contains ______________ and ____________ glands, and ________ follicles.

66.  The three receptors in the reticular region are ______________, _______________, and _______________.

67.  The receptor for cold is _________________.

68.  The receptor for pressure is _______________. 

69.  The receptor for heat is ________________.

70.  The receptor for money is _______________.

71.  The reticular region anchors the _____________ to the ______________.

72.  The ____________ layer anchors the skin to the underlying muscle and areolar connective tissue.

73.  The subcutaneous layer is composed of _______________.

74.  The subcutaneous layer cushions the __________ and ___________.

75.  The subcutaneous layer aids in ____________.

76.  The subcutaneous layer stores _____________ for energy.

77.  The subcutaneous layer is usually how much thicker in females?

78.  The three main protein pigments that affect skin color are ______________, ______________ and ______________.

79.  _______________ is the dominant protein pigment for skin color.

80.  Melanin is found in the _______________.

81.  Melanin is produced by _______________ in the ________________.

82.  Melanin is a protective device against ____________. 

83.  Exposure to UV light increases ______________  which leads to increased melanin production.

84.  Melanin is a ______________ pigment, composed of ___________ that bond together with the help of an enzyme.

85.  The enzyme that helps melanin bond is _____________.

86.  _____________ is an abnormal genetic inability to produce melanin because of the lack of the gene tyrosinase.

87.  _____________ is the protein pigment found in the bloodstream.

88.  _____________ is the protein pigment which accumulates in the dermis and epidermis of the skin.

89.  Hair, glands, and nails are examples of ________________.

90.  Hair protects from ________________, __________________, and ________________.

91.  Hair reduces friction in the ______________ and ______________ regions.

92.  Six areas of the body which have no hair are ___________, ___________, ___________, ___________, ___________, and ___________.

93.  Hair is composed of ______________ tissue.  

94.  Each hair is divided into 3 regions, ___________, ____________, and ____________.

95.  ___________ is the enlarged base of each hair.  

96.  ___________ is the portion below the skin that penetrates down into the dermis.

97.  ___________ is the portion of the hair that projects above the skin. 

98.  ___________ sits in a hair follicle.

99.  ___________ contains the hair matrix.

100.  The hair matrix is an area of _______________ cells.

101.  The hair matrix is located just above the _____________.

102.  The hair papilla is a finger-like projection that contains ____________ that project into the hair bulb.

103.  The hair papilla supplies nutrients to the ______________.

104.  The ___________ is the space that the hair root is within.

105.  The hair follicle is lined with a ___________ that is composed of non-keratinized stratified squamous epithelial tissue.

106.  The 3 circular cell layers of each hair are ____________, _____________, and ______________.

107.  The ________ is the outermost layer of hair.

108.  The ________ is the innermost layer of hair.  

109.  The 3 distinct kinds of hair are ___________, ____________, and ___________.

110.  ____________ hair grows continuously in length.

111.  ____________ is fetal hair.

112.  Definitive hair can be found in what regions of the body?

113.  __________muscle is always attached to hair follicle.

114.  If the erector pili muscle contracts, the hair__________.

115.  When the erector pili muscle contracts, it helps facilitate the ________________.

116.  Hair color is determined by the type and amount of the ____________ present.

117.  Blonde, brunette, and black hair is caused  by the ____________.

118.  Red hair is caused by the _______________ .

119.  Trichosiderin is an ___________ based substance in hair.

120.  Gray hair is caused by _______________.

121.  White hair is caused by _______________.

122.  Blue hair is caused by _______________.

123.  Three types of glands in the skin are __________, ____________, and ____________.

124.  Sebaceous glands are __________________.

125.  Sebaceous glands are always attached to a _________________.

126.  The secretion of a sebaceous gland is _____________.

127.  Sebum has what two main functions?

128.  A sudoriferous gland is a ___________ gland.

129.  The three types of sudoriferous glands are ___________, _____________ and ______________.

130.  The most common type of sudoriferous gland is _________________.

131.  The 2 main functions of an eccrine Sudoriferous gland are ________________ and __________________.

132.  Apocrine glands are found only in the ____________ and ______________ regions.

133.  Apocrine glands mainly secrete under ____________ and ______________ stimuli.

134.  The ceruminous glands are found only in the _________________.

135.  The ceruminous glands secrete _______________.

136.  The two main functions of  the ceruminous glands are ______________ and ______________.

137.  Nails are located at ______________.

138.  The three main functions of nails are _______________, _________________, and _________________.

139.  Nails are composed of ________________.

140.  The three regions of a nail are _______________, ________________, and ________________.

141.  The ______________ is the distal most part that extends beyond the digit.

142.  The ______________ is the proximal most part that is not visible and is beneath the skin.

143.  The ______________ is the visible pink portion that sits on the nail bed.

144.  The proximal-most part of the body is the _______________.

145.  The ______________ is epithelial tissue that is below the nail root that undergoes mitosis and grows continuously.

146.  The ______________ is stratum corneum that adheres to the superior proximal end of the nail body.

147.  The ______________ is stratum corneum that adheres to the inferior distal end of the nail; at the tip, under the free end.

148.  The nervous system is divided into two main divisions, ____________ and _____________.

149.  The CNS consists of the ____________ and _____________.

150.  The PNS primarily consists of _____________ and _____________.

151.  The 3 main functions of the entire Nervous System are _____________, ______________, and _____________.

152.  The sensory function does what?

153.  The integrative function does what?

154.  The motor function does what?

155.  Nervous tissue consists of 2 main types of cells, _____________ and _____________.

156.  The function of the neuroglia cells is to _______________.

157.   _____________ are the structural and functional units of Nervous System.

158.  The three main actions of neurons are ___________, ____________, and ______________.

159.  The 3 distinct parts of a neuron are ___________, _____________, and _____________.

160.  The cell body is also called the ______________.

161.  ____________ transmit an impulse away from the cell body.  

162.  ____________ transmit towards the cell body.

163.  ____________ is the cytoplasm inside the axon.

164.  ____________ is the cell membrane of the axon.

165.  ____________ is the region where the axon originates off the cell body.

166.  ____________ are the highly-branched distal end of the axon.

167.  ____________ is the round, enlarged distal end of each axon terminal.

168.  Neurons are classified by ______________ and ________________.

169.  The 3 types of function classification of neurons are ____________, _____________, and ______________.

170.  ________________ neurons are located entirely within the CNS.

171.  The 3 types of structure classification of neurons are ____________, _____________, and _______________.

172.  _______________ neurons are found mainly in the eye or ear.

173.  _______________ are the accessory cells of the Nervous System.

174.  The function of neuroglial cells is _________________.

175.  The five types of neuroglial cells are ______________, _____________, ________________, _____________, and _____________.

176.  The function of the Schwann’s cells is to __________________.

177.  The function of the oligodendrocytes is to __________________.

178.  The function of the microglia is to __________________.

179.  The function of the ependymal cells is to __________________.

180.  The function of the astrocytes is to _____________________.

181.  The myelin sheath is a multi-layered structure composed of ______________ material covering a nerve fiber or axon.

182.  The function of the myelin sheath is ________________, _________________, and _______________.

183.  Areas of myelinated neurons are also called ______________.

184.  Areas of unmyelinated neurons and clusters of cell bodies are called ________________.

185.  _______________ are points between Schwann cells on a myelinated neuron, where there is no myelin .

186.  A ______________ is any external or internal environmental condition that alters the resting potential of a neuron.

187.  An altering of the resting potential is called a ______________.

188.  A complete reversal of a resting potential is a called an ________________.

189.  A stimulus that is strong enough to initiate an action potential is called a _____________.

190.  An action potential is a sequence of _________________.

191.  One action potential lasts how long?

192.  A sequence of action potentials propagated down an axon (neuron) is called an ________________.

193.  Neurons follow the _____________ principle.

194.  Conduction of an impulse on an unmyelinated neuron is called a ________________.  

195.  Action potentials occur  where?

196.  Conduction of an impulse on a myelinated neuron is called a _________________.

197.  The speed of an impulse is independent of  __________________.

198.  The speed of an impulse is increased by 3 things, ________________, _________________, and ______________.

199.  A nerve impulse (a series of action potentials) travels along an axon, to axon terminals with enlarged ends called ______________.

200.  A ______________ is an area with a gap (cleft) between a synaptic bulb and another neuron, muscle, or gland.

201.  A ______________ is an area with a huge gap between both ears.

202.  The 3 possible points of synapses are _______________, _________________, and _________________.

203.  A _____________ takes the impulse across the synapse.

204.  A neurotransmitter is an _________________ stored in _________________.

205.  In a synaptic transmission, as an impulse passes over the synaptic bulb, ___________ gates open and __________ diffuses into the bulb.

206.  In a synaptic transmission, Ca reacts with the ________________ causing them to fuse with the _______________.

207.  In a synaptic transmission, the vesicles release ________________ into the cleft by _______________.

208.  In a synaptic transmission, acetylcholine ____________ across the cleft and bonds with specific receptors on the postsynaptic membrane. 

209.  ACh is broken down by an enzyme called _________________, which prevents continuous stimulation of the postsynaptic membrane.

210.  A neurotransmitter bonding with a receptor causes an ________________ response on the postsynaptic membrane

211.  In an _____________ response, Na+ gates open, Na+ diffuse in, causing depolarization of the cell, which generates an action potential.

212.  In an _____________ response, causes K+ gates to open, K+ diffuses out and the inside moves from -70 mV to .

213.  A charge of 250 mVcauses ________________ of the cell.

True/False

1.  Epidermis is avascular.

2.  Dermis is avascular

3.  Sebaceous glands are exocrine.

4.  The secretions of a sebaceous gland are easily washed away with water.

5.  Eccrine Sudoriferous glands may or may not empty into a hair follicle.

6.  There are usually one dendrite for each cell body.

7.  Sensory neurons are afferent.

8.  Association neurons always goes from a motor to sensory neuron (one directional).

9.  The PNS is divided into gray and white matter.

10.  Synaptic transmissions travel both ways across a synapse.

11.  In a synaptic transmission, acetylcholine does not enter the cell.

Matching

1.  nerve fiber


a.  bundle of motor neurons (nerve fibers); away from the CNS 

2.  nerve



c.  bundle of nerve fibers

3.  sensory nerve


e.  bundle of sensory neurons (nerve fibers); to the CNS

4.  motor nerve 


d.  part of the neuron; the axon or dendrite

5.  mixed nerve 


b.  a bundle of both sensory and motor neurons

6.  Schwann cells


f.  PNS

7.  Oligodendrocytes

g.  CNS

8.  Microglia


h.  outside

9.  Astrocytes


i.  inside

10.  tract



j.  induces sleep and controls mood

11.  nerve


k.  helps regulate skeletal movements

12.  nucleus or a cortex                 
l.  prevents uncontrolled movements

13.  ganglion


m.  activates the fight or flight

14.  brain white matter

n.  helps inhibit pain

15.  brain gray matter



16.  spinal cord white matter


17.  spinal cord gray matter


18.
Dopamine




19.
Endorphins




20.
Seratonin




21.  Norepinephrine



22.
GABA




Short answer

1.  Briefly explain the neurophysiology of a membrane potential.

2.  Briefly explain resting potential.

3.  Briefly explain the 9 steps of an action potential.

